QUIZ: TISSUES-II
Select and mark the correct answer (T/F)

1. Cells specializing in one function are often grouped together forming a
tissue for the following reason.
(@) So as to give the highest possible efficiency of function (T/F)
(b) For easy identification (T/F)

2.1t is a common practice to cut the grass in the lawn periodically. Yet the
grass grows. It is because of growth due to
(a) Apical meristem (T/F)
(b) Intercalary meristem (T/F)

3. The meristematic cells do not possess
(a) Prominent nucleus (T/F)
(b) Vacuoles (T/F)

4. In plants lateral growth is due to
(a) Vascular cambium and apical meristem (T/F)
(b) Vascular cambium and cork cambium (T/F)

Answers:
1. (a) True
(b) False
2. (a) False
(b) True
3. (a) False
(b) True
4. (a) False
(b) True



